EARAROBREBRT —5 XN—ZXBISH—F

202459838H (H) mAHI1H

o7 B3W ¥S5%—®K

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | 5 1000 &

[AE$] 1 7%:3,800,000F  2#&:1,520,000H / 3&:

950,000 4 7&:570,000 0§ 5 7&:380,000

B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
S5~ ~ o4 | SIEE 1:13.4 1-1 7.3 - 7 | 492 |TREAE (KH)
118|11|3¥7ay a53.0 ) (g | ECAPBS
RRANDA—U7 B:7I5747 TEIS
S ~ _ 5 | AAKA 1:14.1 7-7 36.8| — 8 | 476 |MEAFE (W)
2 2 VAT F=) 56.0 (31/2) 0 |ENEx
R:O0—KRAHFO7 B:yvAVELT KIHS
. ty 6 | ZHEES 1:14.4 5-4 37.7| - n 482 | #EREA (KH)
3 3|77 wIARAY—=F 5.0 (1 3/4) (-q) | BFSLRER
RALYISvIEIL BiFvYRILFAR SYFE—Hi5
"y R — o3| SHE 1:14.4 n-11 [36.4| — | 3 | 493 |HEEZ )
4|5|5 | NATYBEND 55.0 F9%) 3) | BREBITE
RIZART—=IVYF— B:vazk—Nb JEENBEKIS
» ~ 4 3 | [EfES 1:14.5 6-6 37.5| - 2 506 | FREEANE (KH)
517|8|Fv¥IILTY 55.0 (/4) (7) | FELiEEs
SRNNVTSY BRI UFvIL ET-o:
W - s 5 | THE#F 1:14.5 2-2 38.2| - 1 a5 | FHEshz (KH)
61111777 54.0 @) 1) |FIBERD
RIYZIRAI—ZZRI— BIUYFHVAY BlA=tie]
<R < EEER : - - MR CKH)
7 6 HYRI7ILOY 4 5 J%.Oﬁ R 1.(1143.7 10-9 36.9 10 (5_2?:1) o
RAX—KT 7)Y B:T—-ILRURY e
S 35 3 | AHIEZ 1:15.2 8-8 3.7 — 4 498 | KBERF (otd)
sl 4| B3 DTY " 55.0 2 1/2) (3 | BIAES ’
RiE—ZV B:INYIO7R—) T #5%
s 4 | BARE 1:15.3 3-5 8.9 - 9 | 456 |BRA—HR (KH)
9179 |N\F/DY 54.0 (1/2) 45y | =5
RZVGVE/ T B:AVHO-R HFAVAI YR
S o [E3oE :15. = . — HBIER )
10 7 F v Y RITAY i 4 Gis 1(11/52)4 9-10 | 37.8 6 z:g)z e
RNBVFSY B:FvyZ2)bO—X /N
H <2 s 7 | BEX 1:15.8 3-3 39.4| - 5 495 | BATEE (W)
11{8|10| YNV 54.0 @ o |HERT
RiZAZXADA—RAT A B:YIVUN—L— 7S Rigig
® 11— —@BIEfL
13—7F—
20—3F—
30—7— 11,1,(9,10),3,8,2,4,7,6,5
43—73+— |[11,1,10,3,9,8,2,4,6,7,5
[ BN-S
B s 1" 3,920 AR 2-11 10,2104 & 2-8 10,720M4 3EE 2-3-11 320,000/4
BB 1 1,070M 3-1 14,0304 B 8-2 19,9504 3EE 11-2-3| 1,977,350MH
2 1,000 2-3 10,3509 Fs E 2-11 41,870
3 1,160H4 o= 11-2 75,650M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




